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SP31101

Vee(min)=1.8V (Ta=25 )

Iccq(type)=2.7mA (Vcc=3V Ta=25 )

() Vce=1.8-9V

o Vee=3V
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1 E.RECT 9 C.CP
2 I Ne_recr 10 OUTcowe
3 INe.as 11 I Ncove
4 GND 12 C.NF
5 Veer 13 Vce
6 E.NF 14 INc.ac
7 OUTexe 15 INc_recr
8 E.CP 16 C.RECT
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(Ta=25 )
Vce 10 vV
Po 1000 i
Topr -25~75
Tstg -55~150
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, Vcc=3V,f=1kHz,T,=25 ,0dB=-20dBV)
leco Vee=3V 2.7 5.0 mA
Vce 1.8 3.0 9 v
Vref Vin=Vout -21.5 | -20.0 | -18.5 dBv
THDcow - -55 -46
Vin=0dB dB
THDexe - -55 -46
Vio.cowp Vinz —co - 0.5 - mV
f=15Hz-20kH
Vio.exe SHz-20kHz - 15 - uv
CTc.e Vin=0dBV - -95 - dBv
CTe.c Vin=-12dBV - -55 - dBv
. Vz=100mVrms B -30 B dB
RRos f=lkhz - ~60 - dB
EXP Vom R=10kQ - 800 - mv
FReoe Vin=00BV, £=200-3. 5kHz e "
FRexe f=1ktiz( ) - +0.1 -
Voo Vin=20dB -0.4 0.1 0.6
COMP Vocz Vin=-20dB -0.5 0 0.5
Vocs Vin=-40dB -0.6 -0.1 0.4
( 1) Voer Vin=6.5dB -1.1 -0.1 0.9 4B
EXP Voez Vin=-10dB -0.9 0.1 1.1
Voes Vin=-25dB -1.0 0 1.0
1 = Vout-Vref -(Vin-Vref)x a 3

o B :(COMP=0.5,EXP=2)
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